C:# ITpeoOpa3oBaHne aMEpUKAaHCKUX BECOB

Wwmst:
OnpenennTe, KAKOE YHCIO0 J€JIaeT KaxK/10e Npeodpa3oBaHue HCTHHHBIM. — OTBeTHI
1) 17 pynros(Ta) = YHIMH(Un)
1.
2) 19 ¢ynros(ra) = YHIMA (1K)
2.
3) 272 yuumii(un) = ¢dynros(ta)
3.
4) 2 dyuros(ra) = YHIHA (1K)
4.
S) 96 ynuuii(un) = ¢dynros(Ta)
5.
6) 288 ynumii(un) = ¢ynroB(Ta)
6.
7) 23 pynros(ra) = YHIMA (1K)
7.
8) 176 ynunii(un) = GyHTOB(TA)
8.
9) 7 pynros(ta) = yHIMA(UK)
9.
10) 5 pynros(ta) = YHIHA(UK)
10.
11) 384 ynumii(un) = ¢Gynros(Ta)
11.
12) 320 ynumii(un) = ¢ynros(ra)
12.
13) 160 ynuuii(un) = ¢yHroB(Ta)
13.
14) 11 pynros(ta) = YHIU#(1H)
14.
15) 15 pynros(ta) = YHIUH (1K)
15.
16) 12 ¢pynros(Ta) = YHIMA (1K)
16.
17) 112 ynuwii(un) = ¢GyHTOB(TA)
17.
18) 3 ¢ynros(Ta) = YHIUH(MH)
18.
19) 144 ynunii(un) = ¢dynros(Ta)
19.
20) 16 yrumii(un) = ¢yHroB(Ta)
20.
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ﬂh [IpeoOpa3zoBaHne aMepUKAHCKUX BECOB

Nwms: K104 k npaBuJIbHBIM 0TBeTaM
OnpenennTe, KAKOE YHCIO0 J€JIaeT KaxK/10e Npeodpa3oBaHue HCTHHHBIM. OTBeTHI
1) 17 pynros(Ta) = 272 YHIMH(Un)
1. 272
2) 19 ¢ynros(ra) = 304 YHIMA (1K)
2. 304
3) 272 ynumii(un) = 17 ¢yHTOB(TA)
3. 17
4) 2 dyuros(ra) = 32 YHIMN(UK)
4 32
5) 96 ynumii(un) = 6 ¢yHTOB(TA) 6
5.
6) 288 ynumii(un) = 18 ¢byHTOB(TA)
6. 18
7) 23 ¢ynros(ta) = 368 YHIIHHA(UN)
7. 368
8) 176 ynunii(un) = 11 GyHTOB(TA)
8. 11
9) 7 pynros(ta) = 112 yHIMA(UK)
9. 112
10) 5 pynros(ta) = 80 YHIIUN(WN)
10. 80
11) 384 ynunii(un) = 24 ¢byHTOB(TQ)
1. 24
12) 320 ynuuii(un) = 20 ¢dyHTOB(TQ)
12. 20
13) 160 ynuuii(un) = 10 ¢byHTOB(TA)
13. 10
14) 11 pynros(ta) = 176 YHIUH (1K)
14, 176
15) 15 pynros(ta) = 240 YHIUH (1K)
15. 240
16) 12 ¢pynros(Ta) = 192 YHIMA (1K)
16. 192
17) 112 ynumii(un) = 7 ¢gynTOB(Ta)
17. 7
18) 3 ¢ynros(ta) = 48 VHITUH (1N
18. 48
19) 144 ynunii(un) = 9 GyHTOB(TA) 9
19.
20) 16 yrumii(un) = 1 ¢yHroB(Ta)
20, 1
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